WHAT'S IN THE BOX :

140" x 30"
WATERLINE

STaslBoOa=’}D

INNOVATION QUALITY

&

e 0|
T
“‘1&

.@,.3‘:‘

CARBON TOP

LITE TECH

e
@ ©
@) ®Q ®

? t'_hmm@

. 1 X Gore Air Vent + O-Ring

. 1 X Tiki Key

. 1X 2in1 Shoulder Carry Strap

2 X Washer STL6.4x 1.7

. 2 X Screw M6 x 25

. 1 X FCS Screw 8mm.

. 1 X Star Mount

.1 X Screw M4 x 22

. 1 X Square Brass Washer M4

10. 1 X Race Ultra Armacore Fin

11. 2 X Bungee Cord 4mm.

12. 1 X Left Star SUP Rail Band Protect
1 X Right Star SUP Rail Band Protect

:
$ O

Recommend Board Bag
Travel Bag 14'0" Waterline

®
®
.
@
&)

0@ O
@7 @ B

.1 X Gore Air Vent + O-Ring

.1 X Tiki Key

.1 X Screw M4 x 22

. 1 X Square Brass Washer M4

.1 X Bungee Cord 4mm,

.1 X Dol-Fin 22" Net Positive Fin

. 1 X Left Star SUP Rail Band Protect

~Nou s W =

H

Recommend Board Bag
Travel Bag 14'0" Waterline

-

1 X Right Star SUP Rail Band Protect

®

Y 4

2022 STARBOARD SUP



WHAT'S IN THE BOX :

140" x 28"
WATERLINE

CARBON TOP

STaslBoOa=’}D

INNOVATION QUALITY

&

:‘fr'k[?

o

B*‘*ﬁ%f o

Bl sSTESB0=S0

LITE TECH

s
o@ o
@ @ Q ©® |

? ® (== (@

. 1 X Gore Air Vent + O-Ring

. 1 X Tiki Key

. 1X 2in1 Shoulder Carry Strap

2 X Washer STL6.4x 1.7

. 2 X Screw M6 x 25

. 1 X FCS Screw 8mm.

. 1 X Star Mount

.1 X Screw M4 x 22

. 1 X Square Brass Washer M4

10. 1 X Race Ultra Armacore Fin

11. 2 X Bungee Cord 4mm.

12. 1 X Left Star SUP Rail Band Protect
1 X Right Star SUP Rail Band Protect

Recommend Board Bag
Travel Bag 14'0" Waterline

0@ O=— 0O

@7 @ B @l

.1 X Gore Air Vent + O-Ring @ o |

.1 X Tiki Key + +

.1 X Screw M4 x 22 ik

.1 X Square Brass Washer M4 i

.1 X Bungee Cord 4mm,

.1 X Dol-Fin 22" Net Positive Fin

. 1 X Left Star SUP Rail Band Protect
1 X Right Star SUP Rail Band Protect

~Nou s W =

Recommend Board Bag
Travel Bag 14'0" Waterline

-

2022 STARBOARD SUP



WHAT'S IN THE BOX :

126" x 28"
WATERLINE

CARBON TOP

&

STaslBoOa=’}D

INNOVATION QUALITY

LITE TECH

s
o@ o
@ @ Q ©® |

? ® (== (@

. 1 X Gore Air Vent + O-Ring

. 1 X Tiki Key

. 1X 2in1 Shoulder Carry Strap

2 X Washer STL6.4x 1.7

. 2 X Screw M6 x 25

. 1 X FCS Screw 8mm.

. 1 X Star Mount

.1 X Screw M4 x 22

. 1 X Square Brass Washer M4

10. 1 X Race Ultra Armacore Fin

11. 2 X Bungee Cord 4mm.

12. 1 X Left Star SUP Rail Band Protect
1 X Right Star SUP Rail Band Protect

Recommend Board Bag
Travel Bag 12'6” Waterline

0@ O
@7 @ B

.1 X Gore Air Vent + O-Ring

.1 X Tiki Key

.1 X Screw M4 x 22

. 1 X Square Brass Washer M4

.1 X Bungee Cord 4mm,

.1 X Dol-Fin 22" Net Positive Fin

. 1 X Left Star SUP Rail Band Protect
1 X Right Star SUP Rail Band Protect

~Nou s W =

Recommend Board Bag
Travel Bag 12'6"” Waterline

-

®

Y 4

2022 STARBOARD SUP




